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Vg = i

(@) CCVS(Current Controlled Voltage Source:
FREHE FUTH)

o
+
Vd <l fld — 8V
- @]

(c) VCCS (Voltage Contralled Current Source:

2T BRTY)

[(3E 2-17] Ul 7IX| S7 S5TH

lff.:f

v = bv;

(b) VCVS(Voltage Controlled Voltage Source:

TY=E T

o

+

Vi <,L ia = di,
o

(d) CCCS(Current Controlled Current Source:
HEX™ HMETH)
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Qul & (AC: Alternative Current)
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i(t)
A vhome (t) — VP COS(wt + ¢)
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\/ @%E\

v(t) =V, cos(at + @) =2V cos2aft +¢) A7, w=2xf

—i(t)=1, cos(wt+¢')
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0l 2H223K > 500V 0.022u.F £10%
3C474) -> 1600V 0.47uF +3%
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0| 10 [025| 16 | 18 | 20 | 25 [345] 35 | 40 [ 45 | 50 | 63 | 80
1| 10 [125] 16 | 18 | 20 | 25 [315] 35 | 40 | 45 | 50 | 63 | &0
2 | 100 | 125 | 160 | 180 | 200 | 250 | 315 | 350 | 400 | 450 | 500 | 630 | 800
3 | 1000 | 1250 | 1600 | 1800 | 2000 | 2500 | 3150 | 3500 | 4000 | 4500 | 5000 | 6300 | 8000
. O gl
Al Bl Cc|[D|[F|G|]J|K|[M[N]|]V]X
2% £005 | 04 | 4025 | +05 | +1 | 2 | 5 | +10 | +20 | w30 | T | P
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Q HIMAIEC M (ZE) X

d(t) d(1 _,, ~ 1,
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 Chip Inductor : 1R2 - 1.2uH, R22-0.22 pH, 22N=22nH
150 >15x10° uH=15 pH, 152K 2>15x10? uH=1500 uH=1.5mH+10%
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360° =2 radian

sin(%—9)=+cnsﬂ

cus(%—6)=+sin8

tan(%—ﬂ)=+cntﬁ

sin( % +08)=+cosb
cns(%+ﬁ)=—sinﬁ

tan(%+9)=—cntﬂ

sin(m—0)=+sinb
cos(m—0)=—cosH
tan(m—0)=—tan®

sin(m+0)=-—sinb
cos(m+0)=—cosb
tan(m+6)=+tanb

Im
2

sin( —08)=—cosb

CDS(BT“ —B0)=-—sinb

tan(?’z—“—9)=+cntﬂ

sin(% +60)=—cosb
cos(gTﬂ +0)=+sinb

tan(32—“ +8)=-cotb

sin(2m—0)=-sinb
cos(2m—6)=+cosb
tan(2n—6)=—tanb

sin(2n+0)=+sinb
cos(2n+6)=+cosb
tan(2n+0)=+tanb
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1) sin(x+ y)=sinxcos y+tcosxsin y
2) cos(xx y)=cosxcos yFsinxsin y

t Tt
3) tan(xt y) = anx=lany

1+ tan x tan y

AL
QAZEStS ot

asinx+bsin y =+ a’ +b” sin(x + @)

COS P = sin @ =

a b
Ja* +b* Ja* +b*
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f(x)j ) (f(x)]' e f

0 , , 0
—(f@e@)= Mg+ /g 7

gx)) \gx) g

 (sinx)=cosx  (cosx)=-sinx - (tanx)=sec’x
Ox Ox Ox

0 1
9 (sin a)t) = wCos wt — (cos a)t) = —@sin wt o (ln x) B x
ot ot
g t\_ ¢ g ot | _ wt g jot ) _ - wt 2 Ae Jot ]a)Ae
8t(e )= at(e )= at(e )= joe 5’( -

O ( iw Cim : , T, .. T
—(ef ’)=]a)e’ " = —wsinwt + jocoswt = wcos(wt +—)+ josin(wt +—)
ot 2 2
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